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Marking Scheme 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/5/3) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totalled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view 

of the reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:-  

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over 

to the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior School Certificate Examination 2025 

ECONOMICS (Subject Code–030) 
[Paper Code: 58/5/3] 

Maximum Marks: 80 

Q. 

No. 
EXPECTED ANSWER / VALUE POINTS 

Marks 

SECTION -A 

(Macro Economics) 

1. Under the Keynesian theory, ‘Reference Line’ is a straight line passing through the origin 

drawn at an angle of _________________. (Choose the correct option to fill in the blank) 

(A) 25  ̊              (B) 45 ̊ 

(C) 55  ̊              (D) 75 ̊ 

Ans. (B) 45  ̊ 

 

 

 

 

1 

2. According to the data presented in the Union Budget 2023-24, the total receipts of the 

government (other than borrowings), and the total expenditure are estimated as ₹ 20 lakh 

crore and ₹ 45 lakh crore respectively. Therefore, the value of _______deficit would be ₹ 25 

lakh crore.     (Choose the correct option to fill in the blank) 

(A) revenue 

(B) fiscal 

(C) trade 

(D) primary 

Ans. (B) fiscal 

 

 

 

 

 

 

 

 

1 

3. Read the following statements carefully :  

Statement 1: Marginal Propensity to Consume (MPC) exhibits the consumption per unit of 

income. 

Statement 2: As the national income of a country rises, the proportionate increase in the 

consumption is always more than the increase in the income. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (D) Both Statements 1 and 2 are false. 

 

 

 

 

 

 

 

 

 

 

1 

4. In a two-sector economy, Aggregate Supply can be determined by adding ___________ and 

_____________.           (Choose the correct option to fill in the blanks) 

(A) consumption, investments 

(B) investments, savings 

(C) consumption, savings 

(D) savings, exports 

Ans. (C) consumption, savings 

 

 

 

 

 

 

1 

5. Read the following statements carefully :  

Statement 1: Foreign aids are the capital receipts for the government. 

Statement 2: Disinvestments may lead to a decrease in the assets of the government. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 
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(D) Both Statements 1 and 2 are false. 

Ans. (C) Both Statements 1 and 2 are true. 

 

1 

6. From the following, identify the situation which indicates the Current Account Surplus 

(CAS) in Balance of Payments (BOP) account of a nation. 

(A) Excess of receipts on current account over the payments on current account. 

(B) Equality of receipts on current account and payments on current account. 

(C) Excess of payments on current account over receipts on current account. 

(D) Excess of payments on current account over receipts on capital account. 

Ans. (A) Excess of receipts on current account over the payments on current account. 

 

 

 

 

 

 

1 

7. To arrive at the value of Net Value Added at Market Price (NVAMP), _____________must 

be ____________to/from Gross Value Added at Market Price (GVAMP).  

(Choose the correct option to fill in the blanks) 

(A) depreciation, added 

(B) depreciation, subtracted 

(C) net indirect taxes, subtracted 

(D) net indirect taxes, added 

Ans. (B) depreciation, subtracted 

 

 

 

 

 

 

 

1 

8. Identify, which of the following does not represent a public good. 

(Choose the correct option) 

(A) Free vaccines provided by the government 

(B) Defence services provided by the military 

(C) Purchase of railway ticket by an individual 

(D) Street light installed by a city municipality 

Ans. (C) Purchase of railway ticket by an individual 

 

 

 

 

 

 

1 

9. Market forces of demand and supply, actively interact under _____exchange rate system to 

determine the foreign exchange rate.   (Choose the correct option to fill in the blank) 

(A) fixed                                               (B) flexible 

(C) managed floating                                   (D) fixed floating 

Ans. (B) flexible 

 

 

 

 

1 

10. Read the following statements carefully : 

Statement 1: During deflationary gap, the Central Bank of a country may increase the repo 

rate. 

Statement 2: The government can reduce the deflationary gap by purchasing Government 

Securities (G-Sec) in the open market. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (D) Both Statements 1 and 2 are false. 

 

 

 

 

 

 

 

 

 

 

 

1 

11. “As per the Economic Survey of India 2022-23, due to the outbreak of geopolitical conflict, 

the result was higher international prices for fertilizer and fuel. Thus, there was a higher fuel 

and fertilizer subsidy requirement for supporting the people.” 

On the basis of given text, identify and explain the indicated objective of the government 

budget. 

Ans.  The indicated government budget objective is the ‘stabilisation function’. 

 

 

 

 

 

1 
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The stabilisation function aims at controlling large-scale fluctuation in prices through 

the government’s taxation and expenditure policy. The government may incur 

expenditure on providing fuel and fertilizer subsidy in order to ensure price stability. 

2 

 

  3 

12. 

(a) 

State the steps pertaining to the estimation of National Income, under the Value Added 

Method. 

Ans. Steps pertaining to the estimation of National Income under the Value Added 

method: 

1. Identify and classify production units into distinct heads namely primary, secondary, 

and tertiary sector. 

2. Estimate the Gross Value Added of each sector by subtracting the value of 

Intermediate Consumption from the Value of Output and add Gross Value Added of 

each sector to arrive at Gross Domestic Product at Market Price. 

3. Finally, estimate and deduct the value of Depreciation, Net Indirect Taxes and add 

Net Factor Income from Abroad to arrive at National Income (NNPFC). 

 

 

 

 

 

1 

 

1 

 

 

1 

 OR 3 

(b) On the basis of the following hypothetical data, calculate the percentage change in Real 

Gross Domestic Product (GDP) in the year 2022-23, using 2020-21 as the base year. 

       (All figures in ₹ crore) 

 

 

 

 

 

  

Ans. 

Percentage change in Real Gross Domestic Product (GDP) in the year 2022-23 

        = 
𝐂𝐡𝐚𝐧𝐠𝐞 𝐢𝐧 𝐑𝐞𝐚𝐥 𝐆𝐃𝐏

𝐑𝐞𝐚𝐥 𝐆𝐃𝐏 
  x 100 

        = 
𝟔𝟎𝟎𝟎−𝟓𝟎𝟎𝟎

𝟓𝟎𝟎𝟎
  x 100 

        = 20%  

Year Nominal GDP Nominal GDP (Adjusted to 

Base Year Price) 

2020-21 3,000 5,000 

2022-23 4,000 6,000 

 

 

 

 

 

 

 

 

 

 

 

1½  

 

1 

½ 

  3 

13. Read the following text carefully: 

In an economy, a significant reduction in Aggregate demand raised concerns about future 

growth prospects of the country. This economic downturn underscores the urgent need for 

strategic measures to boost confidence of households and stimulate economic activities. 

Based on the above text and common understanding,  explain the measures which the 

government may take to stabilise the indicated situation. 

Ans. The highlighted issue is deflation. To control deflation, the government may: 

• decrease the tax rates which may increase the disposable income (purchasing 

power) in the hands of the general public. Consequently, it may lead to a rise in 

Aggregate Demand, thereby correcting the situation of deflation. 

• increase the public expenditure which may increase the level of income in the 

economy. Consequently, it may lead to a rise in Aggregate Demand, thereby 

correcting the situation of deflation.  

 

 

 

 

 

 

 

2 

 

 

2 

  4 
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14. 

(a) 

“The Indian economy has witnessed a sharp turnaround during 2023-24 with Foreign Direct 

Investments (FDI) inflows of US $ 70·9 Bn and net Foreign Portfolio Investments (FPI) 

inflows of US $ 32.4 Bn.” 

(i) Distinguish between the above mentioned  economic variables.    

Ans.  

Foreign Direct Investment (FDI) refers to direct investment from abroad in physical 

assets with a considerable degree of influence and control over the firm. 

Whereas; 

Foreign Portfolio Investment (FPI) refers to investment from abroad in stocks, bonds 

or other financial assets and do not entail active management or control over the firm. 

 

(ii) In which account of Balance of Payments will the given variables be entered and why? 

Ans. The given variables will be entered in the Capital account of the Balance of 

Payments. 

Capital Account records all international transactions of assets. 

 

 

 

 

 

1 

 

 

1 

 

 

 

1 

 

1 

 OR 4 

(b) Explain how Accommodating Transactions differ from Autonomous Transactions. 

Ans. Accommodating transactions are those international economic transactions which 

are undertaken (by competent authorities) to cover the surplus or deficit in Balance of 

Payments (BoP). These transactions are independent of any economic motive. Such 

transactions are called ‘below the line’ items in the BoP account. 

Whereas; 

Autonomous transactions are those international economic transactions which are 

independent of the state of Balance of Payments (BoP). These transactions are 

generally undertaken with an ‘economic motive’. Such transactions are called ‘above 

the line’ items in the BoP account. 

 

2 

 

 

 

 

2 

  4 

15. 

 

Suppose for two imaginary economies A and B, the value of Marginal Propensity to 

Consume (MPC) stands at 0·5 and 0·8 respectively. 

For both the economies, Autonomous Consumption (𝑐̅) = ₹ 400 crore and Investment 

Expenditure (I) = ₹ 2,000 crore. 

Calculate the following : 

(a) Break-even level of income for Economy A.  

(b) Equilibrium level of income for Economy B. 

Ans. Given, 

Autonomous Consumption (c̅) = ₹ 400 crore 

Investment expenditure (I) = ₹ 2000 crore 

For economy A, Marginal Propensity to Consume (MPC) = 0.5 

For economy B, Marginal Propensity to Consume (MPC) = 0.8 

(a) As we know, at break-even level for economy A; Y = C 

            Y= c̅ + (MPC) Y  

            Y = 400 + 0.5Y 

             Y= ₹ 800 crore 

(b) Equilibrium level of income for economy B; Y= C + I 

                Y= c̅ + (MPC) Y + I 

                 Y= 400 + 0.8Y + 2000 

                Y= ₹ 12,000 crore 

 

 

 

 

 

 

 

 

 

 

 

 

1 

   

½ 

½ 

1 

 

½ 

½ 

                       4 
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16. 

 
(a) “In a country, routine economic operations rely on a stable medium, to facilitate 

transactions for maintaining smooth economic activities.” 

Discuss briefly the indicated function of money. 

Ans. The indicated function of money is ‘medium of exchange’. 

Money acts as a universally acceptable medium for any transaction. Money serves as 

a medium for buying/selling goods and services. It eliminates the limitation of lack of 

double coincidence of wants by facilitating exchange in the market. 

 

(b) State the meaning and components of M1 measure of money supply. 

Ans. M1 measure of money supply refers to the total volume of money held by the public 

at a particular point of time in the economy. 

The two components of M1 measure of money supply are: 

• Currency (notes and coins) held by the public.  

• Net demand deposits held by commercial banks.  

 

(c) State the formula to compute Credit Multiplier. 

Ans. Credit Multiplier =    
𝟏

𝐑𝐞𝐬𝐞𝐫𝐯𝐞 𝐑𝐚𝐭𝐢𝐨
 

 

 

 

1 

 

2 

 

 

 

1 

 

 

 

½  

½  

 

 

1 

  6 

17.  

(a) 

(i) Elaborate the likely impact of construction of 20 new flyovers on the Gross Domestic 

Product (GDP) and Welfare in the economy. 

Ans. The construction of 20 new flyovers may impact the Gross Domestic Product 

(GDP) positively as improved infrastructure generally attracts higher investments in 

an economy and may lead to an increase in employment opportunities. It may also 

reduce travel time and average transportation costs. Consequently, increasing the well-

being of citizens.                                 (To be marked as a whole) 

 

(ii) Suppose, there are only three firms in a hypothetical economy, viz. A, B and C. During 

a given period of time, the following transactions were undertaken by them: 

(I) Firm A sold goods worth ₹ 2,000 to Firm B and ₹ 1,200 to Firm C. 

(II) Firm B sold goods worth ₹ 1,100 to Firm A and ₹ 3,500 to Firm C. 

(III) Firm C sold to households for final consumption, goods worth ₹ 5,700. 

Estimate the value of Gross Domestic Product at Factor Cost (GDPFC), assuming the value 

of Net Indirect Taxes to be ₹ 200. 

Ans. 

Gross Domestic Product at Factor Cost (GDPFC) = GDPMP – Net Indirect Taxes 

        = 5,700 – 200  

                                                                                     = ₹ 5,500 

(Any other valid method to be awarded marks) 

Firms Value of Output 

(in ₹) 

(i) 

Intermediate Consumption 

(in ₹) 

(ii) 

Gross Value 

Added  

(in ₹) 

{(i)-(ii)} 

A 2,000 + 1,200  1,100 2,100 

B 1,100 + 3,500 2,000 2,600 

C 5,700 1,200 + 3,500 1,000 

 13,500 7,800 5,700 

 Gross Domestic Product at Market Price (GDPMP) 

 

 

 

2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

½  

½  

½  

½  

 

1 

½  

½  

 OR 6 
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(b) 

 

 (i) “All consumption goods are durable in nature.” 

       Defend or refute the given statement with a valid argument. 

Ans. The given statement is refuted. Consumption goods can be categorised as durable 

and non-durable. Non-durable consumption goods, such as food, have a shorter 

lifespan. Whereas durable consumption goods, like cars and home appliances, can be 

used over an extended period usually more than one year. Hence, not all consumption 

goods are durable in nature.                     (To be marked as a whole) 

 

(ii) On the basis of the given data, estimate the value of National Income (NNPFC): 

S.No. Items Amount 

(in ₹ Crore) 

(i) Household Consumption Expenditure 1,800 

(ii) Gross Business Fixed Capital Formation 1,150 

(iii) Gross Residential Construction Expenditure 1,020 

(iv) Government Final Consumption Expenditure 2,170 

(v) Excess of Imports over Exports 720 

(vi) Inventory Investments 540 

(vii) Gross Public Investments 1,300 

(viii) Net Indirect Taxes 240 

(ix) Net Factor Income from Abroad (- ) 250 

(x) Consumption of Fixed Capital 440 

Ans.  

National Income (NNPFC) =(i) + (iv) + (ii) + (iii) + (vii) + (vi) – (v) – (x) + (ix) – (viii) 

                                            =1,800+2,170+1,150+1,020+1,300+540–720–440+(-250) – 240  

                               =  ₹ 6,330 crore 

 

 

 

3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

1½ 

1 

½ 

  6 

SECTION – B 

(Indian Economic Development) 

18. Identify, which of the following statements is incorrect about the functions of environment. 

 (Choose the correct option) 

(A) Environment provides resources. 

(B) Environment absorbs wastage. 

(C) Environment sustains life. 

(D) Environment deteriorates quality of life. 

Ans. (D) Environment deteriorates quality of life. 

 

 

 

 

 

 

1 

19. Read the following statements Assertion (A) and Reason (R). 

Choose the correct alternative from the options given below: 

Assertion (A): Under the financial sector reforms introduced in 1991, foreign investment limit 

in banks was raised up to around 74%. 

Reason (R):  Foreign Institutional Investors (FIIs) were allowed to invest in Indian financial 

markets, post-1991. 

Options : 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 
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Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct 

explanation of Assertion (A). 

1 

20. “Suppose an imaginary economy is experiencing a situation of rise in Real Gross Domestic 

Product (GDP), without any corresponding adequate rise in the employment opportunities in 

the economy.” 

In economic parlance, such a situation is termed as ___________ growth. 

(Choose the correct option to fill in the blank) 

(A) Casual 

(B) Informal 

(C) Formal 

(D) Jobless 

Ans. (D) Jobless 

 

 

 

 

 

 

 

 

 

1 

21. Read the following statements carefully : 

Statement 1 : The British policies led to huge employment generation in the secondary and 

tertiary sectors of the Indian Economy. 

Statement 2 :  The real motive of the colonial government’s infrastructural development was 

to benefit interests of India. 

In the light of the given statements, choose the correct alternative from the following : 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (D) Both Statements 1 and 2 are false. 

 

 

 

 

 

 

 

 

 

 

1 

22. Read the following statements carefully : 

Statement 1 : The purchase of food grains, made by the government on the Minimum Support 

Price (MSP), is maintained as buffer stock. 

Statement 2 : Minimum Support Price (MSP) safeguards the farmers against any sharp fall in 

farm product prices. 

In the light of the given statements, choose the correct option from the following : 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (C) Both Statements 1 and 2 are true. 

 

 

 

 

 

 

 

 

 

 

1 

23. Study the following image carefully : 

From the following, choose the correct option which indicates similarities in the policies of 

India and Pakistan, in the post-1947 period : 

(Choose the correct option) 

(A) Dual pricing policy   (B) Commune system 

(C) Import substitution             (D) Great Proletarian Cultural Revolution 

Ans. (C) Import substitution 

 

 

 

 

 

 

 

 

 

 

 

1 

24. Production of diverse varieties of crops, rather than one specialised crop, is known as 

diversification of _____________.              (Choose the correct option to fill in the blank) 
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(A) Crops 

(B) Agricultural Production 

(C) Sectoral Composition 

(D) Employment 

Ans. (A) Crops 

 

 

 

 

1 

25. Read the following statements  - Assertion (A) and Reason (R). 

Choose the correct option from the options given below : 

Assertion (A) : People spend to acquire information related to labour and other markets (like, 

education and health). 

Reason (R) : Expenditure on information is necessary for efficient utilisation of the human 

capital stock.  

Options : 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

26. In the post-independence era, the policy makers of India emphasised on ‘self-reliance’ for the 

first ____ Five Year Plans.                      (Choose the correct option to fill in the blank) 

(A) 6 

(B) 7 

(C) 8 

(D) 9 

Ans. (B) 7 

 

 

 

 

 

 

1 

27. Identify, which of the following statements is incorrect about the Rural Banking system in 

India.               (Choose the correct option) 

(A) The Rural Banking system in India consists of a set of multi-agency institutions. 

(B) In the post-independence period, a well-structured Rural Banking system was formulated 

in India. 

(C) Regional Rural Banks, Cooperative and Land Development Banks are components of the 

Rural Banking system in India. 

(D) The Rural Banking system in India works under the guidance, instruction and supervision 

of the State Bank of India. 

Ans. (D) The Rural Banking system in India works under the guidance, instruction and 

supervision of the State Bank of India. 

 

 

 

 

 

 

 

 

 

1 

28. 

 

Using the following data, analyse the sectoral contribution of India and Pakistan towards 

Gross Value Added (GVA).  

Sectoral Share of Employment and GVA (%) in 2018-19 

 

 

 

 

 

 

 

 

Sector 
Contribution to GVA Distribution of Workforce 

India China Pakistan India China Pakistan 

Agriculture 16 7 24 43 26 41 

Industry 30 41 19 25 28 24 

Services 54 52 57 32 46 35 

Total 100 100 100 100 100 100 
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Ans. The given data pertains to the sectoral share of Gross Value Added (GVA) of India 

and Pakistan. According to the given data, the contribution of the agricultural sector to 

GVA in India is 16% whereas, in Pakistan it is 24%. In India, the Industrial sector 

contributed 30% to GVA whereas this contribution stands at 19% in Pakistan. In India 

and Pakistan, the contribution of service sector to GVA is the highest, 54% and 57% 

respectively. Thus, in both the countries, service sector has emerged as a key contributor 

to growth.              (To be marked as a whole)                                                 

 

 

3 

29. 

(a) 

 

“British colonial rule in India resulted into systematic deindustrialisation of Indian 

indigenous industries.” Explain the two-fold motive of the British with valid arguments.  

Ans. The two-fold motive of the British colonial rule in India was to: 

• reduce India to the status of a mere exporter of important raw materials for the 

upcoming modern industries in Britain. 

• turn India into a sprawling market for their finished products to ensure the 

maximum advantage of their home country. 

 

 

 

1 ½  

 

1 ½  

 OR 3 

(b) “The trade and investment policy initiative by the Indian Government during 1991 economic 

reforms involved some major decision making with respect to local industries.” Elaborate 

any two major decisions and their respective impacts on the Indian economy. 

Ans. The trade and investment policy reforms initiated by the Indian Government 

during 1991 aimed at dismantling the structure of quantitative restrictions and 

reduction of tariff rates.  

Liberalisation of this policy led to an increase in competitive position of Indian goods in 

the international markets and inflow of foreign investments and technology. 

 

 

 

1 ½  

 

 

1 ½  
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30. 

(a) 

(i) Distinguish between human capital and physical capital.  

Ans. Human capital refers to the stock of knowledge, skill and ability imbibed in the 

owner of the same, i.e., human capital is inseparable from its owner. It cannot be sold 

in the market, only its services can be sold in the market. 

Whereas; 

Physical capital are the assets (plant and machinery, building etc.), which are tangible 

in nature. It is separable from its owner. It can be transacted in the market. 

 (ii) Define Sustainable Development. 

Ans. Sustainable Development is the development that meets the need of the present 

generation without compromising the ability of the future generation to meet their own 

needs. 

 

1½ 

 

 

 

1½ 
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 OR 4 

(b) 

 

(i) Describe briefly the importance of micro-credit programmes in Rural India. 

Ans. Micro-credit programmes have emerged to fill the gap in the formal credit system. 

The formal credit delivery mechanism has not been fully integrated into the rural social 

structure. Due to non-availability of collateral, a vast proportion of poor rural 

households go out of the credit network. Micro-credit system has brought these poor 

households in the ambit of formal credit system by providing them loans at a 

concessional rate of interest.          (To be marked as a whole) 

(ii) State any one strategy involved in attaining sustainable development in India. 

Ans. Use of wind energy.       (Any other valid strategy to be awarded marks) 

 

 

 

3 

 

 

 

1 

  4 

31. 

 

Read the following text carefully: 

China underwent substantial policy changes to stimulate their economy. China’s economic 

growth was rapid in the late 1970s across various sectors. However, India had to wait much 
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longer for its economic transformation. India’s significant economic progress was only 

realised after the economic reforms of 1991, which were implemented out of compulsion. 

 

On the basis of given text and common understanding, compare the impact of subsequent 

reforms initiated by China and India. 

Ans. China’s rapid economic growth can be traced back to the voluntarily initiated 

reforms in 1978. China was able to maintain near double-digit growth during 1980s 

which paved the strategic shift towards a manufacturing-driven economy. Moreover, 

agricultural reforms brought prosperity to a vast number of poor people. It fostered 

industrial expansion and strengthening support for further reforms.  

In contrast, India was compelled to introduce economic reforms in 1991. The industrial 

sector reported fluctuation, the growth of the service sector has gone up. This indicates 

that GDP growth is mainly driven by growth in the service sector.  

(To be marked as a whole) 

(Any other valid explanation to be awarded marks) 

 

 

 

 

 

 

 

4 

32. 

 

 State and elaborate, whether the following statements are true/false, with valid arguments: 

(a) Under the Golden Revolution, there was tremendous growth in horticulture, making India 

the world leader in this field. 

Ans. True. India has emerged as a world leader in producing a variety of fruits like 

mangoes, bananas, etc. and is the second largest producer of fruits and vegetables.  

 

(b) Small and marginal farmers are given preference in getting credit from non-institutional 

sources like Regional Rural Banks, Cooperative Banks, etc. 

Ans. False. Regional Rural Banks, Cooperative Banks etc. are the institutional sources 

set up by the government to adequately meet the needs of rural credit. 

 

 

 

2 

 

 

 

 

2 

  4 

33. 

(a) 

(i) “Import substitution policy, if not applied carefully, can be a double-edged sword for any 

economy.” 

Do you agree with the given statement? Justify your answer with valid arguments.  

Ans. Yes. Import-substitution policy aimed at replacing imports with domestic 

production to protect domestic industries from foreign competition and to save foreign 

exchange. 

However, protection from foreign competition may do more harm than good. The 

domestic producers in the absence of a competitive market won’t have any incentive to 

improve the quality of their goods. In turn, consumers may have to purchase low quality 

items at a higher price. Hence, import substitution policy, if not applied carefully, can 

prove to be a double-edged sword for any economy.       (To be marked as a whole) 

(ii) State how multilateral trade is different from bilateral trade. 

Ans. Multilateral trade is the trade by a country with more than two nations to exchange 

goods and services.  

Whereas, bilateral trade refers to the exchange of goods or services between two 

countries.  

 

 

 

 

 

 

4 

 

 

 

 

 

1 
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 OR 6 

(b) (i) Discuss briefly, causes and consequences of the tax reforms initiated during economic 

reforms in India. 

Ans. The causes of the tax reforms initiated during economic reforms in India were to 

curb tax evasion, encourage savings and voluntary disclosure of income. Additionally, 

indirect tax reforms were necessitated to facilitate the establishment of a common 

national market for commodities.  

 

 

 

2 
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The tax rate rationalisation during the reform period, aimed at yielding larger tax 

revenue but did not result in an increase in the tax revenue. Moreover, tax incentives 

provided to foreign investors further reduced the scope for raising tax revenues which 

adversely impacted developmental and welfare expenditures. 

(Any other valid cause or consequence to be awarded marks) 

(ii) State one example each of a Maharatna and a Miniratna company in the public sector in 

India. 

Ans. Example of Maharatna Company –Indian Oil Corporation Limited. 

         Example of Miniratna Company – Bharat Sanchar Nigam Limited. 

(Any other valid example to be awarded marks) 

 

2 

 

 

 

 

 

1 

1 
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34. Read the following text carefully: 

The Labour Force Participation Rate (LFPR) measures the percentage of the population 

either employed or actively seeking employment in a nation. In India, the labour force grew 

by 99·2 million persons between 2000-2019. The labour force grew from 396·3 million to 

495·5 million. 

During 2012-2019, the labour force grew without a matching increase in employment, 

leading to higher unemployment. 

The gender disparity in India’s labour market is notable with women’s LFPR at 32.8% in 

2022, significantly lower than men’s LFPR at 77.2%. This is a major reason for India’s 

overall low LFPR, which is lower than the global average of 47·3%. 

During 2000-2019, rural LFPR declined by 14·1%, compared to a 3·5% decline in urban 

areas. This trend reversed between 2019-2022, with rural LFPR increasing by 6% (especially 

among rural women) and urban LFPR by 2.1%. These shifts suggest that fluctuations occur 

in women’s labour market participation, particularly in rural areas. 

This significantly affected the overall LFPR. Women join the workforce during economic 

hardships and move out when conditions improve. 

On the basis of the given text and common understanding, answer the following questions: 

 

(a) Define unemployment. 

Ans. Unemployment refers to a situation in which all those persons who are willing and 

able to work do not get work at the prevailing wage rate. 

 

(b) Write the meaning of Labour Force Participation Rate (LFPR). 

Ans. The Labour Force Participation Rate (LFPR) measures the percentage of the 

population either employed or actively seeking employment in a nation. 

 

(c) Comment upon the gender disparities in rural and urban Labour Force Participation Rate 

(LFPR) during 2000-2019. 

Ans. The gender disparities in India’s labour market is notable with women’s LFPR at 

32.8% in 2022, significantly lower than men’s LFPR at 77.2%. During 2000 – 2019, 

rural LFPR declined by 14.1%, compared to a 3.5% decline in urban areas.       

                 (To be marked as a whole) 
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Marking Scheme Hindi Medium 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/5/3) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totalled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view 

of the reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:-  

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over 

to the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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अंकन योजना हिन्दी माध्यम 

सीननयर सू्कल सनटिनिकेट परीक्षा, 2025  

अर्िशास्त्र ( निषय कोड – 030) 

[प्रश्न-पत्र कोड : 58/5/3] 

अनिकतम अंक : 80 

प्र.सं अपेनक्षत उत्तर/ मूल्य न ंदु अंक 

खण्ड - क 

(समनि अर्िशास्त्र) 

1. कीन्स के सिद्धांत के अांतर्गत, ‘िांदर्ग रेखध’ (Reference line) मूल स ांदु िे _________ कोण पर खी ांची जधने 

वधली एक िीधी रेखध है।                                (ररक्त स्थधन की पूसतग के सलए िही सवकल्प कध चयन कीसजए)                   

(A) 25°      (B) 45° 

(C) 55°      (D) 75° 

उत्तर - (B) 45° 

 

 

 

 

1 

2. 2023 – 24 के कें द्रीय  जट में प्रसु्तत आँकडोां के अनुिधर, िरकधर की कुल प्रधप्तियधँ (ऋण के असतररक्त) 

तथध कुल व्यय क्रमशः  ₹ 20 लधख करोड तथध ₹ 45 लधख करोड अनुमधसनत हैं। अतः  __________ घधटे कध 

मूल्य ₹ 25 लधख करोड होर्ध।                                                                                                                                                

(ररक्त स्थधन की पूसतग के सलए िही सवकल्प कध चयन कीसजए) 

(A) रधजस्व 

(B) रधजकोषीय 

(C) व्यधपधर 

(D) प्रधथसमक 

उत्तर - (B) राजकोषीय 
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3. सनम्नसलप्तखत कथनोां को ध्यधनपूवगक पस़िए : 

कथन 1: िीमधांत उपर्ोर् प्रवृसि (MPC) प्रसत आय इकधई उपर्ोर् को प्रदसशगत करतध है। 

कथन 2: जैिे-जैिे सकिी देश की रधष्ट्र ीय आय में वृप्तद् होती है, उपर्ोर् में आनुपधसतक वृप्तद् िदैव आय में वृप्तद् 

िे असधक होती है। 

सदए र्ए कथनोां के आलोक में, सनम्नसलप्तखत में िे िही सवकल्प कध चयन कीसजए : 

(A) कथन 1 ित्य है और कथन 2 अित्य है। 

(B) कथन 1 अित्य है और कथन 2 ित्य है। 

(C) कथन 1 और 2 दोनोां ित्य हैं। 

(D) कथन 1 और 2 दोनोां अित्य हैं। 

उत्तर - (D) कर्न 1 और 2 दोनो ंअसत्य हैं। 

 

 

 

 

 

 

 

 

1 

4. सकिी सि-के्षत्रीय अथगव्यवस्थध में, __________ व __________ को जोडकर िमग्र पूसतग कध सनधधगरण सकयध जध 

िकतध है।     (ररक्त स्थधनोां की पूसतग के सलए िही सवकल्प कध चयन कीसजए) 

(A) उपर्ोर्, सनवेश 

(B) सनवेश,  चत 

(C) उपर्ोर्,  चत 

(D)  चत, सनयधगत 

उत्तर - (C) उपभोग,  चत 

 

 

 

 

 

1 

5. सनम्नसलप्तखत कथनोां को ध्यधनपूवगक पस़िए : 

कथन 1: सकिी िरकधर के सलए सवदेशी िहधयतध (Foreign aids) पूांजीर्त प्रधप्तियधँ होती हैं। 

कथन 2: सवसनवेश िे िरकधर की पररिांपसियोां में कमी आ िकती है। 

सदए र्ए कथनोां के आलोक में, सनम्नसलप्तखत में िे िही सवकल्प कध चयन कीसजए : 

(A) कथन 1 ित्य है और कथन 2 अित्य है। 

(B) कथन 1 अित्य है और कथन 2 ित्य है। 
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(C) कथन 1 और 2 दोनोां ित्य हैं। 

(D) कथन 1 और 2 दोनोां अित्य हैं। 

उत्तर - (C) कर्न 1 और 2 दोनो ंसत्य हैं। 

 

 

1 

6. सनम्नसलप्तखत में िे उि प्तस्थसत को पहचधसनए, जो सकिी रधष्ट्र  के रु्र्तधन िांतुलन (BOP) खधते में चधलू खधते 

असधशेष (CAS) को इांसर्त करती है।           (िही सवकल्प कध चयन कीसजए) 

(A) चधलू खधते की प्रधप्तियोां कध चधलू खधते के रु्र्तधनोां पर आसधक्य। 

(B) चधलू खधते की प्रधप्तियोां व चधलू खधते के रु्र्तधनोां में िमधनतध। 

(C) चधलू खधते के रु्र्तधनोां कध चधलू खधते की प्रधप्तियोां पर असधक्य। 

(D) चधलू खधते के रु्र्तधनोां कध पँूजी खधते की प्रधप्तियोां पर असधक्य। 

उत्तर - (A) चालू खाते की प्राप्तियो ंका चालू खाते के भुगतानो ंपर आनिक्य। 
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7.  धजधर मूल्य पर शुद् मूल्य वृप्तद् (NVAMP) कध मूल्य प्रधि करने के सलए,  धजधर मूल्य पर िकल वसधगत मूल्य 

(GVAMP) में/िे __________ को __________ जधनध चधसहए। 

(ररक्त स्थधनोां की पूसतग के सलए िही सवकल्प कध चयन कीसजए) 

(A) मूल्यह्रधि, जोडध 

(B) मूल्यह्रधि, घटधयध 

(C) शुद् अप्रत्यक्ष कर, घटधयध 

(D) शुद् अप्रत्यक्ष कर, जोडध  

उत्तर - (B) मूल्यह्रास, घटाया 
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8. पहचधन कीसजए सक, सनम्नसलप्तखत में िे कौन-िध एक िधवगजसनक वसु्त को वसणगत नही ंकरतध है। 

(िही सवकल्प कध चयन कीसजए) 

(A) िरकधर िधरध उपलब्ध करधए र्ए सनः शुल्क टीके (वैक्सीन) 

(B) िेनध िधरध प्रदि रक्षध िेवधएँ 

(C) सकिी व्यप्तक्त िधरध रेलवे सटकट कध क्रय 

(D) सकिी शहर की नर्रपधसलकध िधरध स्थधसपत स्ट्र ीट लधइट (Street light) 

उत्तर - (C) नकसी व्यप्ति द्वारा रेलिे नटकट का क्रय 
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9. सवदेशी सवसनमय दर सनधधगरण में मधँर् व पूसतग की  धजधर शप्तक्तयधँ __________ सवसनमय दर प्रणधली के अांतर्गत 

िसक्रय रूप िे परस्पर सक्रयध करती हैं।                                                                                                                

(ररक्त स्थधन की पूसतग के सलए िही सवकल्प कध चयन कीसजए) 

(A) प्तस्थर     (B) नम्य 

(C) प्र ांसधत सतरती    (D) प्तस्थर सतरती 

उत्तर - (B) नम्य 
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10. सनम्नसलप्तखत कथनोां को ध्यधनपूवगक पस़िए : 

कथन 1: अवस्फीसतकधरी अांतरधल के दौरधन, सकिी रधष्ट्र  कध कें द्रीय  ैंक रेपो (Repo) दर में वृप्तद् कर िकतध 

है। 

कथन 2: िरकधर खुले  धजधर में िरकधरी प्रसतरू्सतयोां (G-Sec) के क्रय िधरध अवस्फीसतकधरी अांतरधल को कम 

कर िकती है। 

सदए र्ए कथनोां के आलोक में, सनम्नसलप्तखत में िे िही सवकल्प कध चयन कीसजए : 

(A) कथन 1 ित्य है और कथन 2 अित्य है। 

(B) कथन 1 अित्य है और कथन 2 ित्य है। 

(C) कथन 1 और 2 दोनोां ित्य हैं। 

(D) कथन 1 और 2 दोनोां अित्य हैं। 

उत्तर - (D) कर्न 1 और 2 दोनो ंअसत्य हैं। 
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11. "र्धरत के आसथगक िवेक्षण 2022 – 23 के अनुिधर, रू्-रधजनीसतक िांघषग के प्रधदुर्धगव के कधरण उवगरक व 

ईांधन के अांतररधष्ट्र ीय मूल्योां में वृप्तद् हुई थी। अतः  लोर्ोां की िहधयतध िुसनसित करने के सलए ईांधन व उवगरक 

उपदधन की आवश्यकतधओां में  ़िोतरी हुई थी।" 

सदए र्ए र्द्य के आधधर पर, िरकधर की इांसर्त  जट उदे्दश्य की पहचधन व व्यधख्यध कीसजए। 

उत्तर - सरकार के इंनगत  जट का उदे्दश्य 'प्तिरीकरण कायि' है।  

 

 

 

 

1 
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प्तिरीकरण कायि का उदे्दश्य सरकार की करािान और व्यय नीनत के माध्यम से िसु्तओ ंऔर सेिाओ ं

के मूल्यो ंमें  डे पैमाने पर उतार-चढाि को ननयंनत्रत करना है। सरकार मूल्य प्तिरता सुनननित करने 

के नलए ईिंन और उििरक उपदान प्रदान करने पर व्यय कर सकती है।  

2 

 

  3 

12. 

(क) 

मूल्य वृद्धि वववि के अंतर्गत, राष्ट्र ीय आय के आकलन से संबंवित चरण  ंका उले्लख कीविए। 

उत्तर - मूल्य वहधित हवहध के अन्तर्ित राष्ट्र ीय आय के आकलन से संबंहधत चरण:  

1. उत्पादन इकाइय  ंक  अलर्-अलर् के्षत्रक  ंअर्ाित् प्रार्हमक, हितीयक और तृतीयक के्षत्र में पिचानें 

और वर्ीकृत करें।  

2. उत्पादन के मूल्य में से मध्यवती उपभ र् के मूल्य क  घटाकर प्रते्यक के्षत्र के सकल मूल्य वहधित का 

अनुमान लर्ाएं और बाजार मूल्य पर सकल घरेलू उत्पाद पर पहंचने के हलए प्रते्यक के्षत्र के सकल मूल्य 

वहधित क  ज डें।  

3. अंत में, मूल्यह्रास, शुद्ध अप्रत्यक्ष कर  ंके मूल्य का अनुमान लर्ाकर उन्हें घटाएं और राष्ट्र ीय आय 

(NNPFC) पर पहंचने के हलए हवदेश से शुद्ध कारक आय ज डें।  

 

 

1 

 

1 
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 अर्वा 3 

(ख) सनम्नसलप्तखत कधल्पसनक आँकडोां के आधधर पर, 2020 – 21 को आधधर वषग मधनते हुए, वषग 2022 – 23 में 

वधस्तसवक िकल घरेलू उत्पधद (GDP) में प्रसतशत पररवतगन की र्णनध कीसजए।  

(िर्ी आँकडे ₹ करोड में) 

वषग नधममधत्र िकल घरेलू 

उत्पधद 

नधममधत्र िकल घरेलू उत्पधद 

(आधधर वषग के मूल्योां के अनुिधर 

िमधयोसजत) 

2020 – 21 3,000 5,000 

2022 – 23 4,000 6,000 

उत्तर: िषि 2022-23 के दौरान िास्तनिक सकल घरेलु उत्पाद (GDP) में प्रनतशत पररितिन  

     = 
वधस्तसवक 𝑮𝑫𝑷 में पररवतगन

वधस्तसवक 𝑮𝑫𝑷 
  x 100 

     = 
𝟔𝟎𝟎𝟎−𝟓𝟎𝟎𝟎

𝟓𝟎𝟎𝟎
  x 100 

     = 20%  

 

 

 

 

 

 

 

 

 

 

 

1½  

1 

½ 
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13. सनम्नसलप्तखत र्द्य कध ध्यधनपूवगक अध्ययन कीसजए : 

"एक अथगव्यवस्थध में, िमग्र मधँर् में उले्लखनीय कमी ने, देश के र्सवष्य की सवकधि िांर्धवनधओां के  धरे में 

सचांतधएँ उत्पन्न कर दी हैं। यह आसथगक मांदी, रृ्हस्थोां के सवश्वधि में वृप्तद् करने तथध आसथगक र्सतसवसधयोां को 

प्रोत्सधसहत करने के सलए रणनीसतक उपधयोां की तत्कधल आवश्यकतध को रेखधांसकत करती है।" 

उपयुगक्त र्द्य तथध िधमधन्य ज्ञधन के आधधर पर, उन उपधयोां की व्यधख्यध कीसजए सजन्हें िरकधर सनसदगष्ट् प्तस्थसत को 

प्तस्थर करने के सलए कर िकती है। 

उत्तर: उपरोि इंनगत की गई प्तिनत 'अपस्फीनत' है जो अर्िव्यििा में समग्र मांग में कमी का पररणाम 

है। अपस्फीनत को ननयंनत्रत करने के नलए, सरकार ननम्न उपाय कर सकती है -  

• करो ंकी दरो ंको कम कर सकती है नजससे आम जनता के हार्ो ंमें प्रयोज्य आय (क्रय शप्ति) 

 ढ सकती है। पररणामस्वरूप, इससे समग्र मांग में िृप्ति हो सकती है, नजससे अपस्फीनत की 

प्तिनत ठीक हो सकती है।  

• साििजननक व्यय में िृप्ति कर सकती है नजससे अर्िव्यििा में आय का स्तर  ढ सकता है। 

पररणामस्वरूप, इससे समग्र मांग में िृप्ति हो सकती है, नजससे अपस्फीनत की प्तिनत ठीक 

हो सकती है। 
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14. 

(क) 

"2023 – 24 के दौरधन, US $ 70.9 Bn के प्रत्यक्ष सवदेशी सनवेश (FDI) अांतवधगह व US $ 32.4 Bn के शुद् 

सवदेशी पोटगफोसलयो सनवेश अांतवधगह के िधथ र्धरतीय अथगव्यवस्थध में तीव्र पररवतगन कध अनुर्व सकयध र्यध है।" 

(i) उपयुगक्त आसथगक चरोां के मध्य अांतर स्पष्ट् कीसजए। 
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उत्तर - प्रत्यक्ष निदेशी ननिेश (FDI) का तात्पयि भौनतक पररसंपनत्तयो ंमें प्रत्यक्ष निदेशी ननिेश से है, 

नजसमें िमि पर कािी हद तक प्रभाि और ननयंत्रण होता है।  

ज नक;  

निदेशी पोटििोनलयो ननिेश (FPI) का तात्पयि स्टॉक,  ॉन्ड या अन्य नित्तीय पररसंपनत्तयो ंमें निदेशी ननिेश 

से है और इसमें िमि पर सनक्रय प्र ंिन या ननयंत्रण शानमल नही ंहोता है। 

(ii) रु्र्तधन िांतुलन के सकि खधते में उपयुगक्त मदोां को दजग सकयध जधएर्ध व क्योां? 

उत्तर - उपयुिि मदो ंको भुगतान संतुलन के पंूजी खाते में दजि नकया जाएगा।  

पंूजी खाते में पररसंपनत्तयो ंके सभी अंतररािर ीय लेनदेन को शानमल नकया जाता है। 

1 

 

 

1 

 

 

1 

1 

 अर्िा 4 

(ख) व्यधख्यध कीसजए सक, स्वधयि लेन-देन सकि प्रकधर िमधयोजन लेन-देन िे सर्न्न होते हैं। 

उत्तर: स्वायत्त लेन-देन िे अंतराििर ीय आनर्िक लेन-देन हैं जो भुगतान संतुलन (BOP) की प्तिनत से स्वतंत्र 

होते हैं। ये लेन-देन सामान्यतः  ‘आनर्िक उदे्दश्य’ से नकए जाते हैं। ऐसे लेन-देन को  ीओपी खाते में ‘रेखा 

से ऊपर’ की मदें कहा जाता है।  

ज नक; 

 समायोजन लेन-देन िे अंतराििर ीय आनर्िक लेन-देन हैं जो भुगतान संतुलन (BOP) में अनिशेष या घाटे 

को पूरा करने के नलए (सक्षम अनिकाररयो ंद्वारा) नकए जाते हैं। ये लेन-देन नकसी भी आनर्िक उदे्दश्य 

से स्वतंत्र होते हैं। ऐसे लेन-देन को  ीओपी खाते में ‘रेखा से नीचे’ की मदें कहा जाता है। 

 

2 

 

 

 

 

2 

  4 

15. 

 

मान लीविए वक द  काल्पवनक अर्गव्यवस्थाओ ंA व B के वलए, सीमांत उपभ र् प्रवृवि (MPC) का मान 

क्रमशः  0.5 तर्ा 0.8 है। 

द न  ंअर्गव्यस्थाओ ंके वलए, स्वायि उपभ र् (c̅) = ₹ 400 कर ड़ है तर्ा वनवेश व्यय (I) = ₹2,000 कर ड़ है। 

वनम्नवलद्धखत की र्णना कीविए : 

(क) अर्गव्यवस्था A के वलए आय का सम स्तर (Break-even level)।  

(ख) अर्गव्यवस्था B के वलए आय का संतुलन स्तर।  

उत्तर: हदया र्या िै, 

स्वायत्त उपभ र् (c̅) = ₹ 400 कर ड 

हनवेश व्यय (I) = ₹ 2000 कर ड 

अर्िव्यवस्था A के हलए, सीमांत उपभ र् प्रवृहत्त (MPC) = 0.5 

अर्िव्यवस्था B के हलए, सीमांत उपभ र् प्रवृहत्त (MPC) = 0.8 

(a) जैसा हक िम जानते िैं, अर्िव्यवस्था A के हलए आय का सम-स्तर; Y = C 

              Y = c̅ + (MPC) Y 

              Y = 400 + 0.5Y 

              Y= ₹ 800 कर ड 

(b) अर्िव्यवस्था B के हलए आय का संतुलन स्तर; Y= C + I 

      Y= c̅ + (MPC) Y + I 

      Y= 400 + 0.8Y + 2000 

      Y= ₹ 12,000 कर ड 
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16. 

 

(क) "सकिी रधष्ट्र  में, सनयसमत आसथगक िांचधलन, िुचधरु आसथगक र्सतसवसधयधां लेनदेन को िुसवधधजनक  नधने के 

सलए सवसनयम के एक प्तस्थर मधध्यम पर सनर्गर करतध है।" 

मुद्रध के सनसदगष्ट् कधयग पर िांके्षप में चचधग कीसजए। 

उत्तर -  मुद्रा का नननदिि कायि 'निननमय का माध्यम' है। 

नकसी भी लेन-देन के नलए मुद्रा एक साििभौनमक रूप से स्वीकायि माध्यम के रूप में कायि करती है। 

मुद्रा िसु्तओ ंऔर सेिाओ ंके क्रय/निक्रय के नलए एक माध्यम के रूप में कायि करती है। यह  ाजार में 

निननमय को सुनििाजनक  नाकर आिश्यकताओ ंके दोहरे संयोग की सीमा को समाि करती है। 

 

(ख) मुद्रध आपूसतग के M1 मधप कध अथग व घटकोां कध उले्लख कीसजए। 

उत्तर: मुद्रा आपूनति का M1 माप, अर्िव्यििा में नकसी निशेष समय पर जनता के पास रखी गई मुद्रा 

की कुल मात्रा को संदनभित करती है।  

 

 

 

1 

 

2 

 

 

 

1 
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मुद्रा आपूनति के M1 माप के दो घटक हैं:  

• जनता द्वारा रखी गई करेंसी (नोट और नसके्क)।  

• िानणप्तज्यक  ैंको ंद्वारा रखी गई शुि मांग जमा। 

 

(र्) िधख रु्णक की र्णनध करने कध िूत्र सलप्तखए। 

उत्तर −  साख गुणक =
𝟏

आरनक्षत अनुपात
 

 

½  

½  
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17.  

(क) 

(i) वकसी राष्ट्र  में 20 नए उपररर्ामी (flyovers) के वनमागण से अर्गव्यवस्था में सकल घरेलू उत्पाद (GDP) व 

कल्याण पर संभाववत प्रभाव  ंकी व्याख्या कीविए। 

उत्तर: 20 नए उपररगामी (flyovers) के ननमािण से सकल घरेलू उत्पाद (GDP) पर सकारात्मक प्रभाि 

पड सकता है क्योनंक सािारणतया  ेहतर आिाररक संरचना अर्िव्यििा में अनिक ननिेश को 

आकनषित करती है और इससे रोजगार के अिसरो ंमें िृप्ति हो सकती है। इससे यात्रा का समय और 

औसत पररिहन लागत भी कम हो सकती है। पररणामस्वरूप, नागररको ंके कल्याण में सुिार हो सकता 

है।        (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

(ii) मान लीविए वक, एक काल्पवनक अर्गव्यवस्था में केवल तीन फमें A, B और C हैं। एक वनवित समयाववि 

के दौरान, उनके द्वारा वनम्नवलद्धखत लेनदेन वकए र्ए हैं : 

(I) फमग A ने फमग B क  ₹ 2,000 तर्ा फमग C क  ₹ 1,200 के मूल्य का माल ववक्रय वकया। 

(II) फमग B ने फमग A क  ₹ 1,100 तर्ा फमग C क  ₹ 3,500 के मूल्य का माल ववक्रय वकया। 

(III) फमग C ने रृ्हस्थ  ंक  ₹5,700 के मूल्य के माल का अंवतम उपभ र् के वलए ववक्रय वकया। 

शुि अप्रत्यक्ष कर  ंका मूल्य ₹ 200 मानते हुए, सािन लार्त पर सकल घरेलू उत्पाद (GDPFC) के मूल्य का 

अनुमान लर्ाइए। 

मूल्य का अनुमान लर्ाइए। 

उत्तर -  

फमि  उत्पादन का मूल्य 

(₹ में) 

(i) 

मध्यवती 

उपभ र् 

(₹ में) 

(ii) 

सकल मूल्य वधिन 

(₹ में) 

{(i) – (ii)} 

A 2,000 + 1,200  1,100 2,100 

B 1,100 + 3,500 2,000 2,600 

C 5,700 1,200 + 3,500 1,000 

 13,500 7,800 5,700 

 बाजार मूल्य पर सकल घरेलू उत्पाद (GDPMP) 

कारक लार्त पर सकल घरेलू उत्पाद (GDPFC) = GDPMP - शुद्ध अप्रत्यक्ष कर 

                                              = 5,700 - 200 

                                                                     = ₹ 5,500                                     

 (अन्य हकसी प्रासंहर्क हवहध के हलए भी अंक प्रदान हकए जाएँ ) 
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 अर्िा 6 

(ख)  

 

 "िर्ी उपर्ोर् वसु्तएँ सटकधऊ प्रकृसत की होती हैं।" 

वैध तकग  िे सदए र्ए कथन कध िमथगन यध खांडन कीसजए। 

उत्तर - नदए गए कर्न का खंडन नकया जाता है। उपभोग िसु्तओ ंको नटकाऊ और गैर-नटकाऊ िसु्तओ ं

के रूप में िगीकृत नकया जा सकता है। गैर-नटकाऊ उपभोग िसु्तओ,ं जैसे नक खाद्य और पेय पदार्ि, 

का जीिनकाल अल्प होता है। ज नक नटकाऊ उपभोग िसु्तओ,ं जैसे नक कार और घरेलू उपकरण, का 

उपयोग सामान्यतः  एक िषि से अनिक समय तक नकया जा सकता है। इसनलए, सभी उपभोग िसु्तएँ 

नटकाऊ प्रकृनत नही ंहोती हैं।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

(ii) सदए र्ए आांकडोां के आधधर पर, रधष्ट्र ीय आय (NNPFC) के मूल्य कध अनुमधन लर्धइए : 
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क्र.िां.            मदें  रधसश (₹ करोड में) 

(i) घरेलू उपर्ोर् व्यय 1,800 

(ii) िकल व्यधपधररक स्थधयी पँूजी सनमधगण 1,150 

(iii) िकल आवधिीय सनमधगण व्यय 1,020 

(iv) िरकधरी अांसतम उपर्ोर् व्यय 2,170 

(v) सनयधगत पर आयधत कध आसधक्य 720 

(vi) मधलिूची (Inventory) सनवेश 540 

(vii) िकल िधवगजसनक सनवेश 1,300 

(viii) शुद् अप्रत्यक्ष कर 240 

(ix) सवदेशोां िे प्रधि शुद् कधरक आय (–) 250 

(x) स्थधयी पँूजी कध उपर्ोर् 440 

उत्तर - 

रािर ीय आय (NNPFC) = (i) + (iv) + (ii) + (iii) + (vii) + (vi) – (v) – (x) + (ix) – (viii)                                            

           =1,800+2,170+1,150+1,020+1,300+540–720–440+(-250) – 240  

                               =  ₹ 6,330 करोड 

 

 

 

 

 

 

 

 

 

 

 

 

1½ 

1 

½ 
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खंड – ख 

(भारतीय आनर्िक निकास) 

18. पहचधन कीसजए सक, पयधगवरण के कधयों के िांदर्ग में सनम्नसलप्तखत में िे कौन-िध कथन असत्य है ? 

(िही सवकल्प कध चयन कीसजए) 

(A) पयधगवरण िांिधधन उपलब्ध करधतध है। 

(B) पयधगवरण अपव्यव को अवशोसषत करतध है। 

(C) पयधगवरण जीवन कध पोषण करतध है। 

(D) पयधगवरण जीवन की रु्णविध कध क्षय करतध है। 

उत्तर - (D) पयाििरण जीिन की गुणित्ता का क्षय करता है। 

 

 

 

 

 

1 

19. सनम्नसलप्तखत कथनोां – असर्कथन (A) और कधरण (R) कध अध्ययन कीसजए। 

नीचे सदए र्ए सवकल्पोां में िे िही सवकल्प कध चयन कीसजए : 

असर्कथन (A) : 1991 में प्रधरांर् सकए र्ए सविीय के्षत्र िुधधरोां के अांतर्गत,  ैंकोां में सवदेशी सनवेश की िीमध 

लर्र्र् 74% तक  ़िध दी र्ई थी। 

कधरण (R) : 1991 के उपरधांत, सवदेशी िांस्थधर्त सनवेशकोां (FIIs) को र्धरतीय सविीय  धजधरोां में सनवेश करने 

की अनुमसत दे दी र्ई थी। 

सवकल्प : 

(A) असर्कथन (A) और कधरण (R) दोनोां ित्य हैं तथध कधरण (R), असर्कथन (A) की िही व्यधख्यध करतध है। 

(B) असर्कथन (A) और कधरण (R) दोनोां ित्य हैं लेसकन कधरण (R), असर्कथन (A) की िही व्यधख्यध नही ां 

करतध है। 

(C) असर्कथन (A) ित्य है, लेसकन कधरण (R) अित्य है। 

(D) असर्कथन (A) अित्य है, लेसकन कधरण (R) ित्य है। 

उत्तर - (B) अनभकर्न (A) और कारण (R) दोनो ंसत्य हैं लेनकन कारण (R), अनभकर्न (A) की सही 

व्याख्या नही ंकरता है। 
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20. "मधन लीसजए सक, एक कधल्पसनक अथगव्यवस्थध वधस्तसवक िकल घरेलू उत्पधद (GDP) में वृप्तद् की प्तस्थसत कध 

अनुर्व कर रही है, ज सक अथगव्यवस्थध में रोजर्धर के अविरोां में पयधगि वृप्तद् नही ां हो रही है।" 

ऐिी प्तस्थसत को, आसथगक र्धषध शैली में __________ वृप्तद् कहध जधतध है। 

(ररक्त स्थधन की पूसतग के सलए िही सवकल्प कध चयन कीसजए) 

(A) असनयत (Casual) 

(B) अनौपचधररक 

(C) औपचधररक 

(D) रोजर्धर सवहीन 

उत्तर - (D) रोजगार निहीन 

 

 

 

 

 

 

 

1 
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21. सनम्नसलप्तखत कथनोां को ध्यधनपूवगक पस़िए : 

कथन 1 : सिसटश नीसतयोां के कधरण र्धरतीय अथगव्यवस्थध के सितीयक व तृतीयक के्षत्रोां में प्रचुर मधत्रध में 

रोजर्धर िृजन हुआ थध। 

कथन 2 : औपसनवेसशक िरकधर के िांरचनधत्मक ढधांचे के सवकधि कध वधस्तसवक उदे्दश्य र्धरतीय सहतोां को 

लधर्धप्तित करनध थध। 

सदए र्ए कथनोां के आलोक में, सनम्नसलप्तखत में िे िही सवकल्प कध चयन कीसजए : 

(A) कथन 1 ित्य है और कथन 2 अित्य है। 

(B) कथन 1 अित्य है और कथन 2 ित्य है। 

(C) कथन 1 और 2 दोनोां ित्य हैं। 

(D) कथन 1 और 2 दोनोां अित्य हैं। 

उत्तर - (D) कर्न 1 और 2 दोनो ंअसत्य हैं। 
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22. सनम्नसलप्तखत कथनोां को ध्यधनपूवगक पस़िए : 

कथन 1 : िरकधर िधरध नू्यनतम िमथगन मूल्य (MSP) पर सकए र्ए खधद्यधन्न के क्रय को  फर स्ट्ॉक के रूप 

में रखध जधतध है। 

कथन 2 : नू्यनतम िमथगन मूल्य (MSP) कृसष उत्पधद मूल्य में सकिी र्ी तीव्र सर्रधवट के सवरुद्, कृषकोां को 

िुरक्षध प्रदधन करतध है। 

सदए र्ए कथनोां के आलोक में, सनम्नसलप्तखत में िे िही सवकल्प कध चयन कीसजए : 

(A) कथन 1 ित्य है और कथन 2 अित्य है।       (B) कथन 1 अित्य है और कथन 2 ित्य है। 

(C) कथन 1 और 2 दोनोां ित्य हैं।                    (D) कथन 1 और 2 दोनोां अित्य हैं। 

उत्तर - (C) कर्न 1 और 2 दोनो ंसत्य हैं।    
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23. सनम्नसलप्तखत सचत्र कध ध्यधनपूवगक अध्ययन कीसजए : 

 
 

सनम्नसलप्तखत में िे उि िही सवकल्प कध चयन कीसजए, जो 1947 की अवसध के उपरधांत र्धरत व पधसकस्तधन की 

नीसतयोां में िमधनतधओां को इांसर्त करतध है :             (िही सवकल्प कध चयन कीसजए) 

 (A) दोहरी कीमत-सनधधगरण नीसत                         (B) कमू्यन प्रणधली 

(C) आयधत प्रसतस्थधपन                                      (D) महधन िवगहधरध िधांसृ्कसतक क्रधांसत 

उत्तर - (C) आयात प्रनतिापन 
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24. एक सवसशष्ट् फिल के स्थधन पर, सवसर्न्न प्रकधर की फिलोां कध उत्पधदन _______ के सवसवधीकरण के रूप में 

जधनध जधतध है।         (ररक्त स्थधन की पूसतग के सलए िही सवकल्प कध चयन कीसजए) 

(A) फिलोां 

(B) कृसष उत्पधदन 

(C) के्षत्रीय िांरचनध 

(D) रोजर्धर 

उत्तर - (A) िसलो ं

 

 

 

 

 

1 

25. सनम्नसलप्तखत कथनोां – असर्कथन (A) और कधरण (R) कध अध्ययन कीसजए। 

नीचे सदए र्ए सवकल्पोां में िे िही सवकल्प कध चयन कीसजए : 

असर्कथन (A) : लोर् श्रम व अन्य  धजधरोां (जैिे सक सशक्षध व स्वधस्थ्य) िे िां ांसधत िूचनध प्रधि करने के सलए 

व्यय करते हैं। 

कधरण (R) : मधनव पूांजी स्ट्ॉक के कुशलतम प्रयोर् के सलए िूचनध पर व्यय आवश्यक है। 

सवकल्प : 

(A) असर्कथन (A) और कधरण (R) दोनोां ित्य हैं तथध कधरण (R), असर्कथन (A) की िही व्यधख्यध करतध है। 
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(B) असर्कथन (A) और कधरण (R) दोनोां ित्य हैं, लेसकन कधरण (R), असर्कथन (A) की िही व्यधख्यध नही ां 

करतध है। 

(C) असर्कथन (A) ित्य है, लेसकन कधरण (R) अित्य है। 

(D) असर्कथन (A) अित्य है, लेसकन कधरण (R) ित्य है। 

उत्तर - (A) अनभकर्न (A) और कारण (R) दोनो ंसत्य हैं तर्ा कारण (R), अनभकर्न (A) की सही 

व्याख्या करता है। 

 

 

 

 

1 

26. स्वतांत्रतध उपरधांत युर् में, र्धरत के नीसत सनमधगतधओां ने प्रथम __________ पांचवषीय योजनधओां के सलए 

'आत्मसनर्गरतध' पर जोर सदयध थध। 

(ररक्त स्थधन की पूसतग के सलए िही सवकल्प कध चयन कीसजए) 

(A) 6 

(B) 7 

(C) 8 

(D) 9 

उत्तर - (B) 7 
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27. पहचधन कीसजए सक, र्धरत में ग्रधमीण  ैंसकां र् प्रणधली के िांदर्ग में सनम्नसलप्तखत में िे कौन-िध कथन असत्य है? 

(िही सवकल्प कध चयन कीसजए) 

(A) र्धरत में ग्रधमीण  ैंसकां र् प्रणधली में  हु-एजेंिी िांस्थधनोां कध एक िमूह िप्तिसलत है। 

(B) स्वतांत्रतध उपरधांत अवसध में, र्धरत में एक िुचधरू रूप िे िांरसचत ग्रधमीण  ैंसकां र् प्रणधली कध सनमधगण सकयध 

र्यध थध। 

(C) के्षत्रीय ग्रधमीण  ैंक, िहकधरी व रू्सम सवकधि  ैंक र्धरत में ग्रधमीण  ैंसकां र् प्रणधली के घटक हैं। 

(D) र्धरत में ग्रधमीण  ैंसकां र् प्रणधली र्धरतीय से्ट्ट  ैंक के मधर्गदशगन, सनदेशन व पयगवेक्षण के अांतर्गत कधयग 

करती है। 

उत्तर - (D) भारत में ग्रामीण  ैंनकंग प्रणाली भारतीय से्टट  ैंक के मागिदशिन, ननदेशन ि पयििेक्षण के 

अंतगित कायि करती है। 
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28. 

 

सनम्नसलप्तखत आँकडोां कध उपयोर् करते हुए, िकल वसधगत मूल्य (GVA) में र्धरत व पधसकस्तधन के के्षत्रीय योर्दधन 

कध सवशे्लषण कीसजए। 

2018-19 में रोजर्धर एवां िकल वसधगत मूल्य (%) के के्षत्रीय अांश 

के्षत्र 
िकल वसधगत मूल्य में योर्दधन कधयग ल कध सवतरण 

र्धरत चीन पधसकस्तधन  र्धरत चीन पधसकस्तधन  

कृसष 16 7 24 43 26 41 

उद्योर् 30 41 19 25 28 24 

िेवध 54 52 57 32 46 35 

योर् 100 100 100 100 100 100 

उत्तर - उपरोि आंकडे भारत और पानकस्तान के सकल िनिित मूल्य (GVA) की के्षत्रीय नहसे्सदारी से 

सं ंनित है। उपरोि आंकडो ंके अनुसार, भारत के GVA में कृनष के्षत्र का योगदान 16% है, ज नक 

पानकस्तान में यह 24% है। भारत में, औद्योनगक के्षत्र ने GVA में 30% का योगदान नदया, ज नक यह 

योगदान पानकस्तान में 19% है। भारत और पानकस्तान में, GVA में सेिा के्षत्र का योगदान उच्चतम है  

जो क्रमशः  54% और 57% है। इस प्रकार, दोनो ं देशो ं में, सेिा के्षत्र निकास में एक महत्वपूणि 

योगदानकताि के रूप में उभरा है।    (पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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29. 

(क)  

"भारत में विविश औपवनवेवशक शासन के पररणामस्वरूप भारतीय स्वदेशी उद्य र्  ंका व्यवद्धस्थत रूप से 

ववऔद्य र्ीकरण हुआ र्ा।" 

वैि तकों द्वारा अंगे्रि  ंके द हरे उदे्दश्  ंकी व्याख्या कीविए। 

उत्तर - भारत में हिहटश औपहनवेहशक शासन का द िरा उदे्दश्य र्ा:  

• भारत क  हिटेन में हवकहसत ि  रिे आधुहनक उद्य र्  ंके हलए मित्वपूणि कचे्च माल के मात्र 

हनयाितक बनाना।  

 

 

 

 

1 ½  
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• भारत क  अपने तैयार उत्पाद  ंके हलए एक हवशाल बाजार में बदलना ताहक अपने देश का 

अहधकतम लाभ सुहनहित हकया जा सके। 

1 ½  

 अर्िा  3 

(ख) "1991 के आवर्गक सुिार  ंके दौरान भारत सरकार द्वारा प्रारंभ की र्ई व्यापार और वनवेश नीवत में स्थानीय 

उद्य र्  ंके संदभग में कुछ प्रमुख वनणगय सद्धिवलत रे्।" 

वकन्ी ंद  प्रमुख वनणगय  ंऔर भारतीय अर्गव्यवस्था पर उनके प्रभाव  ंपर ववस्तार से चचाग कीविए। 

उत्तर - 1991 के दौरान भारत सरकार िारा शुरू हकए र्ए व्यापार और हनवेश नीहत सुधार  ंका उदे्दश्य 

मात्रात्मक प्रहतबंध  ंकी संरचना क  खत्म करना और प्रशुल्क दर  ंमें कमी करना र्ा। 

इस नीहत के उदारीकरण से अंतरािष्ट्र ीय बाजार  ंमें भारतीय वसु्तओ ंकी प्रहतस्पधी स्थस्थहत में वृस्थद्ध हई 

और हवदेशी हनवेश और प्रौद्य हर्की का प्रवाि बढा। 

 

 

 

1 ½  

 

1 ½  
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30. 

(क) 

(i) मधनव पँूजी व र्ौसतक पँूजी के मध्य अांतर स्पष्ट् कीसजए। 

उत्तर: मानि पंूजी से तात्पयि उस ज्ञान, कौशल और योग्यता के भंडार से है जो उसके स्वामी में समानहत 

है, अर्ाित मानि पंूजी अपने स्वामी से अनिभाज्य है। इसे  ाजार में क्रय/ निक्रय नही ंनकया जा सकता, 

केिल इसकी सेिाओ ंका  ाजार में क्रय/ निक्रय नकया जा सकता है।  

ज नक; 

भौनतक पंूजी िे संपनत्तयाँ (प्ांट और मशीनरी, भिन आनद) हैं, जो प्रकृनत में मूति हैं। यह अपने स्वामी 

से अलग है। इसका  ाजार में क्रय-निक्रय नकया जा सकता है। 

(ii) धधरणीय सवकधि को पररर्धसषत कीसजए। 

उत्तर - िारणीय निकास िह निकास है ितिमान पीढी की आिश्यकताओ ं को भािी पीढी की 

आिश्यकताओ ंकी पूनति क्षमता से समझौता नकए न ना पूरा करे। 

 

1½ 
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 अर्िा 4 

(ख) (i) ग्रधमीण र्धरत में िूक्ष्म-िधख कधयगक्रम के महत्व पर िांके्षप में वणगन कीसजए। 

उत्तर - औपचाररक ऋण प्रणाली में अंतर को पाटने के नलए सूक्ष्म-साख कायिक्रम का प्रादुभािि हुआ। 

औपचाररक ऋण नितरण तंत्र को, ग्रामीण सामानजक संरचना में पूरी तरह से एकीकृत नही ंनकया गया 

है। ऋणािार की अनुपलब्धता के कारण, गरी  ग्रामीण पररिारो ंका एक  डा भाग ऋण तंत्र से  ाहर 

हो जाता है। सूक्ष्म-साख प्रणाली द्वारा इन ननििन पररिारो ंको ररयायती ब्याज दर पर ऋण प्रदान करके 

औपचाररक ऋण प्रणाली के दायरे में लाया है। 

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

(ii) र्धरत में धधरणीय सवकधि प्रधि करने में िप्तिसलत सकिी एक रणनीसत कध उले्लख कीसजए। 

उत्तर - पिन ऊजाि का उपयोग। 

(अन्य कोई प्रासंनगक रणनीनत के नलया भी अंक प्रदान नकए जाए) 
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31. 

 

सनम्नसलप्तखत र्द्य को ध्यधनपूवगक पस़िए : 

चीन ने अपनी अथगव्यवस्थध को प्रोत्सधसहत करने के सलए कई नीसतर्त पररवतगन सकए थे। 

1970 के दशक के अांत में सवसर्न्न के्षत्रोां में चीन की आसथगक वृप्तद् तीव्र रही थी। हधलधँसक, र्धरत को अपने आसथगक 

पररवतगन के सलए  हुत प्रतीक्षध करनी पडी थी। र्धरत को महत्वपूणग आसथगक प्रर्सत 1991 के आसथगक िुधधरोां के 

उपरधांत ही प्रधि की र्ई थी, सजन्हें मज ूरी के कधरण लधरू् सकयध र्यध थध। 

सदए र्ए र्द्य व िधमधन्य ज्ञधन के आधधर पर, चीन व र्धरत िधरध आरम्भ र्ए िुधधरोां के प्रर्धवोां की तुलनध कीसजए। 

उत्तर - चीन की तीव्र आनर्िक िृप्ति का अनुमान उसके द्वारा 1978 में सै्वप्तिक रूप से शुरू नकए गए 

सुिारो ंसे लगाया जा सकता है। 1980 के दशक के दौरान चीन लगभग दोहरे अंको ंकी िृप्ति  नाए 

रखने में सक्षम र्ा, नजसने निननमािण-संचानलत अर्िव्यििा की ओर रणनीनतक  दलाि का मागि प्रशस्त 

नकया। इसके अनतररि, कृनष सुिारो ं ने  डी संख्या में ननििन लोगो ंको समृप्ति प्रदान की। इसने 

औद्योनगक निस्तार को  ढािा नदया और भनिष्य में सुिारो ंके नलए मज ूत आिार  नाया।  

इसके निपरीत, भारत को 1991 में आनर्िक सुिार शुरू करने के नलए मज ूर होना पडा। औद्योनगक 

के्षत्र में उतार-चढाि होते रहे और सेिा के्षत्र की िृप्ति  ढ गई। यह दशािता है नक सकल घरेलू उत्पाद की 

िृप्ति मुख्य रूप से सेिा के्षत्र में िृप्ति से पे्रररत है। 

(अन्य कोई प्रासंनगक प्रभाि के नलए भी अंक प्रदान नकए जाए) 
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32. 

 

 मान्य तकों द्वारा, उले्लख व ववसृ्तत व्याख्या कीविए वक वनम्नवलद्धखत कर्न सत्य हैं या असत्य : 

(क) स्वणग क्रांवत के तहत बार्वानी में िबरदस्त वृद्धि हुई, विससे भारत इस के्षत्र में ववश्व में अग्रणी बन र्या। 

उत्तर: कर्न सत्य िै। भारत हवहभन्न प्रकार के फल  ंजैसे आम, केला आहद के उत्पादन में हवश्व में अग्रणी 

बनकर उभरा िै और देश फल  ंऔर सस्थिय  ंका दूसरा सबसे बडा उत्पादक िै। 

 

(ख) छ िे और सीमांत कृषक  ंक  के्षत्रीय ग्रामीण बैंक, सहकारी बैंक आवद िैसे रै्र-संस्थार्त स्र त  ंसे ऋण 

प्राप्त करने में प्रार्वमकता दी िाती है। 

उत्तर: कर्न असत्य िै। के्षत्रीय ग्रामीण बैंक, सिकारी बैंक आहद ग्रामीण ऋण की जरूरत  ंक  पयािप्त 

रूप से पूरा करने के हलए सरकार िारा स्थाहपत संस्थार्त स्र त िैं। 
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33. 

(क) 

(i) "आयधत प्रसतस्थधपन नीसत को, यसद िधवधधनी िे लधरू् नही ां सकयध र्यध, तो यह सकिी र्ी अथगव्यवस्थध के 

सलए दोधधरी तलवधर िधस त हो िकती है।" 

क्यध आप सदए र्ए कथन िे िहमत हैं ? मधन्य तकों िधरध अपने उिर की पुसष्ट् कीसजए। 

उत्तर: हाँ। आयात-प्रनतिापन नीनत का उदे्दश्य घरेलू उद्योगो ंको निदेशी प्रनतस्पिाि से  चाने और 

निदेशी मुद्रा  चाने के नलए आयात को घरेलू उत्पादन से  दलना है। 

हालाँनक, निदेशी प्रनतस्पिाि से सुरक्षा अिे से ज़्यादा नुकसान पहँुचा सकती है। प्रनतस्पिी  ाजार की 

अनुपप्तिनत में घरेलू उत्पादको ंके पास अपने माल की गुणित्ता में सुिार करने के नलए कोई प्रोत्साहन 

नही ंहोगा।  दले में, उपभोिाओ ंको कम गुणित्ता िाली िसु्तएँ अनिक कीमत पर क्रय करनी पड 

सकती हैं। इसनलए, आयात प्रनतिापन नीनत, अगर साििानी से लागू नही ंकी जाती है, तो नकसी भी 

अर्िव्यििा के नलए दोिारी तलिार सान त हो सकती है।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

(ii) उले्लख कीसजए सक  हुपक्षीय व्यधपधर सकि प्रकधर सिपक्षीय व्यधपधर िे सर्न्न है। 

उत्तर:  हुपक्षीय व्यापार एक रािर  द्वारा दो से अनिक रािर  के सार् िसु्तओ ंऔर सेिाओ ंका आदान-

प्रदान करने के नलए नकया जाने िाला व्यापार है।  

ज नक ; 

नद्वपक्षीय व्यापार से तात्पयि दो रािर  के  ीच िसु्तओ ंऔर सेिाओ ंके आदान-प्रदान करने के नलए नकए 

जाने िाले व्यापार से है। 
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 अर्िा 6 

(ख) (i) र्धरत में आसथगक िुधधरोां के दौरधन प्रधरांर् सकए र्ए कुछ िुधधरोां के कधरणोां व पररणधमोां पर िांके्षप में चचधग 

कीसजए। 

उत्तर - भारत में आनर्िक सुिारो ंके अंतगित प्रारंभ नकए गए कर सुिारो ंका कारण कर चोरी पर अंकुश 

लगाना,  चत को प्रोत्सानहत करना और आय का सै्वप्तिक घोषणा करिाना र्ा। इसके अनतररि, 

िसु्तओ ंके नलए एक एकीकृत रािर ीय  ाजार की िापना की सुनििा के नलए अप्रत्यक्ष कर सुिारो ंकी 

आिश्यकता र्ी। 

सुिार अिनि के दौरान करो ंकी दर में सुिार का उदे्दश्य अनिक कर राजस्व प्राि करना र्ा, लेनकन 

इससे कर राजस्व में िृप्ति नही ंहुई। इसके अनतररि, निदेशी ननिेशको ंको प्रदान नकए गए कर 

प्रोत्साहन ने कर राजस्व  ढाने के अिसर को और कम कर नदया, नजसका निकास और कल्याण व्यय 

पर प्रनतकूल प्रभाि पडा। 

(अन्य कोई उनचत कारण/सुिार के नलए भी अंक प्रदान नकए जाए) 

(ii) र्धरत में िधवगजसनक के्षत्र की महधरत्न व समनीरत्न कां पनी कध एक-एक उदधहरण दीसजए। 

उत्तर: महारत्न कंपनी का उदाहरण - इंनडयन ऑयल कॉपोरेशन नलनमटेड। 

नमनीरत्न कंपनी का उदाहरण – भारत संचार ननगम नलनमटेड। 

(अन्य कोई उनचत उदाहरण के नलए भी अंक प्रदान नकए जाए) 
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34. म्नसलप्तखत र्द्य को ध्यधनपूवगक पस़िए : 

श्रम  ल र्धर्ीदधरी दर (LFPR) सकिी रधष्ट्र  में कधयगरत अथवध िसक्रय रूप िे रोजर्धर की तलधश कर रहे व्यप्तक्तयोां 

के प्रसतशत को मधपती है। र्धरत में, 2000 – 2019 के मध्य श्रम  ल में 99.2 समसलयन व्यप्तक्तयोां की वृप्तद् हुई 

थी। श्रम  ल 396.3 समसलयन िे  ़िकर 495.5 समसलयन हो र्यध थध। 
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2012 – 2019 के दौरधन, रोजर्धर में िमधन वृप्तद् के स नध श्रम  ल में हुई वृप्तद् िे  ेरोजर्धरी में  ़िोतरी हुई 

थी। 

र्धरत के श्रम  धजधर में लैंसर्क अिमधनतधएँ उले्लखनीय हैं, 2022 में मसहलधओां की श्रम  ल र्धर्ीदधरी दर 

(LFPR) 32.8% है, जो सक पुरुषोां की श्रम  ल र्धर्ीदधरी दर (LFPR) 77.2% िे कधफी कम है। यह र्धरत की 

िमग्र श्रम  ल र्धर्ीदधरी दर (LFPR) कध एक प्रमुख कधरण है, जो सक वैसश्वक औित श्रम  ल र्धर्ीदधरी दर 

(LFPR) 47.3% िे कम है। 

2000 – 2019 के दौरधन, ग्रधमीण श्रम  ल र्धर्ीदधरी दर (LFPR) में 14.1% की सर्रधवट आई है, ज सक शहरी 

के्षत्रोां में 3.5% की सर्रधवट आई थी। 2019 – 2022 के मध्य यह प्रवृसि पलट र्ई, ग्रधमीण श्रम  ल र्धर्ीदधरी 

दर (LFPR) में 6% (सवशेषकर ग्रधमीण मसहलधओां में) और शहरी श्रम  ल र्धर्ीदधरी दर (LFPR) में 2.1% वृप्तद् 

हुई। ये पररवतगन दशधगते हैं सक मसहलधओां की श्रम  धजधर र्धर्ीदधरी में उतधर-च़िधव होतध है, सवशेषकर ग्रधमीण 

के्षत्रोां में। 

इिने श्रम  ल र्धर्ीदधरी दर (LFPR) को कधफी प्रर्धसवत सकयध सकयध है। मसहलधएँ आसथगक कसिनधइयोां के 

दौरधन कधयग ल में शधसमल होती हैं, तथध ज  पररप्तस्थसतयोां में िुधधर होतध है, तो वे कधयग ल िे सनकल जधती हैं। 

 

सदए र्ए र्द्य व िधमधन्य ज्ञधन के आधधर पर, सनम्नसलप्तखत प्रश्ोां के उिर दीसजए : 

(क)  ेरोजर्धरी को पररर्धसषत कीसजए। 

उत्तर:  ेरोजगारी एक ऐसी प्तिनत है नजसमें िे सभी व्यप्ति जो ितिमान मजदूरी दर पर काम करने के 

इिुक और योग्य हैं, उन्हें काम नही ंनमलता है। 

 

(ख) श्रम  ल र्धर्ीदधरी दर (LFPR) कध अथग सलप्तखए। 

उत्तर: श्रम  ल भागीदारी दर (LFPR) नकसी रािर  में कायिरत या सनक्रय रूप से रोजगार की तलाश करने 

िाले व्यप्तियो ंके प्रनतशत को मापती है। 

 

(र्) 2000 – 2019 के दौरधन ग्रधमीण व शहरी श्रम  ल र्धर्ीदधरी दर (LFPR) में लैंसर्क अिमधनतधओां पर 

सटप्पणी कीसजए। 

उत्तर - भारत के श्रम  ाजार में लैंनगक असमानता उले्लखनीय है, 2022 में मनहलाओ ंकी LFPR 32.8% 

है, जो पुरुषो ंकी LFPR 77.2% से कािी कम है। 2000 - 2019 के दौरान, शहरी के्षत्रो ंमें 3.5% की 

नगरािट की तुलना में ग्रामीण LFPR में 14.1% की नगरािट आई।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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* * * 


